Lesson 7.2.1

7-57. See below:
a. —cos(xz) +C
b. -8 ¥ + C

c. +(I*+1)P°+C
d.—L[1+cosx’+C

e. —% cos3(5x) +C

f 55 G2+ 2x+35)08 4 C

7-58. Viitter= 5 m2h. Since h =27, Vi = 5 7. Veyp= 97y, 50 Vigga = 15 7h° + 97y = 9. Therefore,

1 22 dh dy _ dy _ 1 12dh
47rh dr+9”dr Oordr 36h o
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7-59. See below:

\/3 sin x
a t—F——
2+/cos x

b tan(\/;)secz(\/;)

Jx

c. —cos(cos x) - sin x

7-60. See below:

a.3x0 —15x2 +25x + C

b. 0

c.(6m™ +2)x+C



7-61. % ~ 1.954 inches

7-62.a=—%; (4,1)

7-63. $8890.13
7-64. 420 miles per hour
7-65. See below:

a.31n3
N

b. T

c.—1

d. —1

e.In3-3*

Ne
£

7-66. Let w = volume of water in the bucket, ‘fi—”t" = kw.



